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Q1) Subtract the following horizontally. 

 

Q2) Subtract the following vertically.  

 

 

 

 

 

 

 

12 - 5 = 

10 - 3 = 
14 - 6 =  

8 - 2 =  15 - 1 =  

       

T 0 

4 2 

 1 

  

T 0 

6 5 

 3 

 

T 0 

8 7 

 7 
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Q3) Using the following pictures write the problem. Subtract to find the remaining.  

 

7 3 4 

One example is done for you. 
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  Q1. Subtract the following vertically.                                                                             

      
              

 

 

 

 

T 0 

3 6 

1 2 

 

T 0 

9 2 

1 7 

 

T 0 

6 0 

4 5 

 

How did I get answer as 11? 

TRY 

THIS! 

• LESS THAN 12 

• I AM NOT 11 

• I AM 3+3+3 

• WHAT AM I ? 

 

• I AM AN EVEN NUMBER 

• I AM A 2 DIGIT NUMBER 

• I AM 14-2  

• WHAT AM I  ? 
ANS: ANS: 

ANS: 
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Q2. Subtract the following in the given sequence to reach the finish line.                                                                            

 

 

14 - 4 = 

19 - 4 = 8 - 4 = 4 - 4 = 

9 - 4 = 

5 - 4 = 

12 - 2 = 

15 - 3 = 

11 - 0 = 
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Q1. Answer the following. 

 

 

 

 

 

 

 

Q2. Subtract the following horizontally. 

 

1) 19 - 4 = ___________. 

2) What is left when you take away 3 from 9 ___________. 

3) Subtract 0 from 25 = ____________. 

4) The difference between 80 and 10 ____________. 

5) 30 minus 30 is__________. 

 

20 - 5 =  

 

30 - 7 =  

 

11 - 1 =  

 

55 - 9 =  
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Q3 Solve the given word problem.  

1) Eesa had 65 Lego bricks. He used 47 of them to make a Lego car. How many Lego 
bricks are left with him? 

   

   

   

   

          

Q4) Subtract the following vertically.  

 

Q5) Arrange and subtract the following. 

1) 70 - 23                          2) 95 - 16                            3) 65 - 8                                                                                           

 

 

 

 

  

  

  

  

  

                                                                                                            

  

  

  

  

  

  

  

T 0 

2 9 

1 3 

 

T 0 

4 1 

2 0 

 

T 0 

5 6 

1 4 

 


